Solutions to WS 17.1 - Percentages, #1-19 odd

D Find 357 of 0.

X 35
%0 100

00X = 4500

I il
|00 |00

X =a%

@ What percent of 40 is 607

ko L
40 * 100

The Fercent (Ropoerion

fier
wHILE 100

40x = 6000
) 4O
X = lSO

150°.

————mny

@ L‘{% is Yol of what numb(r?

4% o 40
X X 100

o+ 4300
qo  Uo

X = 120

720

@ Find ol o 50.
4o

X B e

50 100
|00x = Q000

|00 [o O
x =20

10

@o? is what percm{' of 06
3 X

—:_—-—.

100 100

X = Q
(by pommon sense)

[22]

@ 30 is (o7 of what pumber 7

20 60
X >‘<loo

LOX = 5200
o

60
X = 50

@F.'na (%07, of 4.
X >< [$0

4o |00

100 = 3200

o) 0O

Xz
1

B find 307, o [20.

X on

190 100

00% = 3600

{o© | 0O
X = 36

3¢]




(Hw
Aot Pzrcen+ of 0
is 607

Lo
$9 “os
100

b
"Q?'( = 60 00
0 %

%0

Q iS
@ /. d’F Wk
? \O A[ V\UMIO
lOO

0%
. . Q:oo
o

x =45
45




